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T1. Which of the following is “Autctrophs™?
1) Producer 2) Decomposer

3) Congumer 4) Consumer and Decomposer

T2 Which matching between cell and functicn is correct?

A - Bone cell - to discard waste

(]

: Muscle cell - to control movement

]

: Nerve cell — to carmy information

D : White bloed cell - to kill bacteria
1) A and B right, C wrong 2) B and C right, D wrong
3) C and D right, & wrong 4) & and D right, B wrong

T3, Which one is incomrect about the number of chremosomes of human?
A Bge = 224X

: Sperm = 22+X or 22+Y

:Liver = 444X or 4d+ Y

: Ovary = 224X

: Bed blood = 44+XY or 4d+XX
1) Aand B Z)Band C
3)Cand D d)Dand E

m o oM m

T4, Alzheimers is caused by the error in which part of brain?
1) cerebrum 2) cerebellum

3) Hypothalamus 4) Medulla Obloneata

5. Which one is incorrect about exoskeleton?
1} Aleo called the external skeleton. 2) Centipede ant and crab.
3) Allows movement of body parts. 4) Made of cuticle or calcium sulphate.

T6. From the food web below.

i
Y

w/

0 — O

W
V

Which animals are the secondary and the tertiary consumer orderly?
LJAand G 2)Cand G
DandF 4)Fand D
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T7. From the table gives the detail about fertilization, respiration and eive birth of animals.

Narned the animals of P, Q, R and 5 crderly?

Fertilization Respiration Give birth
Animal
Internal | External Gill Lung Owiparous | Viviparous

P / - ! - - !

Q ! - - / / -

R - ! - i/ J -

5 - { ! - / -

1) enake bat fighting fish eel 2) platypus bird turtle small green frog
3) Guppy crocodile frog shrimp 4) whale lizard chicken catfish

T8. Which part is not belong to the land vertebrates?
1) Have hollow bones. 2) Long column of backbone.
3} Stroneg and big pectoral. 4) Strone and big pelvic girdlec.

79 Which graph shows the relation of the respiation rate and the amount of

Carbon dioxide in human breathing?

.
L

.

L

Respiration rate

Respiration rate

1) 2)

. e
™ -

The amcart of Carbon diceide The amount of Carbon diaxide:

Fespiration rate
Respiration rate

3) N 4)

.
L * + + t 4

Thi amaunt of Carbon diakide The smowunt of Carbon dikedds

B0. The revolving stool works on the principle of the wheel and axle.

Which cne of the labeled parts is the axle?

14
2)B
3 C
4D
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81. Which of the following is work done?
1) Cycling 2) Climbing a tree

3) Pushing a concrete wall 4) Diving into the swimming pool

82. Which of the following is without frictional force?
1) We cannot hold objects firmly. 2) We can climb up to the mountain.
3) We will not fall when we walk or run  4) We fall down from the building.

83. Which one is incorrect about force?
A : It can cause a moving object to change speed.
B : It can cause a stationary object to move.
C: It can change the shape of an object.
D: We can see and feel force.
1)AandB 2)Band C
3)Aand C 4)Cand D

84. A student placed marble on the spring to affect its length.

The results are in the table shown below.

Mumber of marble 0 1 2 3 i}

Length of spring (cm) 3 3.5 i 4.5 5

Which of the following graphs shows the results that the pupils obtained?

N Length of spring A Length of speing
1) 1 z - —
o1 @1 5 Mo, of marbles [ | 2 i1 5 ho, of marbles
A Length of spring A Length of spring
3) 4]
—- -

[ 1 4 3 4 5 Mo, of marhles |0 1 2 3 1 5 Ho. of marbles
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85. Four identical iron cubes were put on the top of each wooden ramp as in the diagrams

below. In which of the following would the iron cube possess the most kinetic energy?

86. Figure shows an experiment. What can you infer from the experiment?

1) All the materials can be charged.

2) Like charges always repel each other.

3) Like charges always attract each other.

4) There are 4 kinds of charges produced by friction.

87. Which device has a thermostat?
1) A computer 2) A television
3) An electric oven 4) A blender

88. Which house design is the most suitable for the tropics?
1) A white house with low roof. 2) A white house with high roof.

3) A silver house with a glass roof. 4) A wood house with a metal roof.

89. Which substance is electrical medium?
1) Phosphorus 2) Silicon
3) Sulphur 4) Graphite

90. Which equation is match to Carbonic acid?
1)HO + CO 2)HO + S0
2 2 2 2
3) HO+CO 4) HO + CO,



22

91. Which process is used to purified sclution?
1) Sublimation 2) Filtering

3) Freezing 1) Boiling

92. For protection rusting of copper by coating with ...........
1) Iron 2) Zinc
3) Tin 4) Sulphur

93. Which one is colloid?
1) Syrub 2) Salad dressing

3) Flour solution 4) Coconut milk

94, Which js not a mineral acid?
1) Hydrochloric acid 2) Sulphuric acid
3) Ascorbic acid 4) Carbonic acid

95. According to Newton’s laws of motion and gravitation, the moon goes around the earth
in an elliptical orbit because .............
1) centripetal force acts on it.
2) magnetic force acts on it.
3) it is natural motion in space.
)

d) force acts on in the direction of its motion.

96. Which is true in explaining the hottest planet in the Solar system?
1) Mercury is the closest planet to the Sun.
2) Mars is famous for likely fireplace freeze.
3) Venus is thick atmosphere and has Greenhouse effect.

4) Dominance of Jupiter is the big red spot or likely red Giant.
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97. In classification of clouds, prefixes are used to represent the ......ccoeeeee.

1) height of the clouds. 2) thickness of the clouds.
3) color and shape of the clouds. 4) color and thickness of the clouds.

From the Rock Cycle Diagram

Watering & erosion

17y
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Q8. What is the substance for number 27

Solidifichtion

Melting

1) Magma or sediment 2) Magma or Lava

3) leneous or Metamorphic Rock 4) Sediment or Sedimentary Rock

99. What kind of rock in A, B and C orderly?
1) lgneous Rock , Sedimentary Rock and Metamorphic Rock
2) lgneous Rock , Magma or Sediment and Sedimentary Rock
3) lenecus Rock , Magma or Lava and Sedimentary Rock

4) leneous Rock , Metamorphic Rock and Sedimentary Rock
100. What kind of eclipse that cause the umbra of the moon on the earth?

Earth

Moon

DR
Sun light

Umbra

1) Total Solar eclipse 2) Annular Solar eclipse

3) Partial Solar eclipse 4) Hybrid Solar eclipse



